
www.dahuasecurity.com

VTM119
VTM119+Surface Mounted Box

· Material: AL5052    

· Dimensions: 150.2mm×411.3mm×127.0mm (5.91"×6.19"×5.00")           

VTM119 

Dimensions (mm[inch])Installation

Rev 001.001 © 2019 Dahua. All rights reserved. Design and specifications are subject to change without notice.
Pictures in the document are for reference only, and the actual product shall prevail.

Step1   Drill holes in the wall according to holes on the surface mount box, 

and then put expansion tube in the holes.

Step2   Fix the surface mount box on the wall with ST4×25 screws.

Step3   Install M3×6 screws on the top of the surface mount box to 

prevent water leakage.

Step4   Thread the cable through the bracket, and then connect the cables 

to cables on the wall.

Step5   Fix the bracket on the surface mount box with M3×6 screws.

Step6   Fix the outdoor station (VTO) on the bracket with M3×16 screws.

Step7   Apply sealant to gaps between the surface mount box and the wall.

M3×6

ST4×25

M3×6


